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Multiple Choice Choose the letter of the answer that best completes each statement

10.
1.

12,

. Prokaryotes are unlike all other organisms in that their cells

. Viruses and monerans that are capable of producing disease in humans are

a. pathogens. b. symbionts. c. saprophytes. d. methanogens.
. A T4 bacteriophage attaches itself to a bacterium by its
a. DNA core. c. tail fibers.
b. capsid. d. flagella.
. Prophage can exist in a host cell for a period of time before becoming active in
a. conjugation. ¢. a lytic infection.
b. binary fission. d. a lysogenic infection.

. Which is not true of rickettsias?

. Dangerous bacteria are not killed by

a. sterilization. c. refrigeration.
b. disinfection. d. boiling.
. The genetic information in a retrovirus is copied from
a. DNA to RNA. c. DNA to DNA.
b. RNA to DNA. d. RNA to RNA.
Cells carry out energy production in the absence of oxygen by
a. fermentation. c. respiration.

spherical bacteria are called

a. spirilla. b. cocci. c. bacilli. d. streptococci.

a. lack nuclei. c. have a cell wall.
b. lack organelles. d. lack nucleic acids.

a. They grow only in a living host.

b. They are bacteria.

. They cause Rocky Mountain spotted fever.
d. They are viral in origin.

b. symbiosis. d. parasitism.

A structure that forms when a bacterium produces a thick internal wall that encloses
DNA and part of its cytoplasm is called a (an)
a. capsid. b. endospore. c. spirillum. d. prophage.

Organisms that require a constant supply of o_xygen to live are
a. obligate anaerobes. (A facdmgve anaerobes.
b. obligate aerobes. d. facultative aerobes.

Bacteria are not being used to ¥
a. produce yogurt. c. prevent botulism.
b. help in mining minerals. d. remove wastes from water.
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20.

21.

22.

23.

24.

25.

Bacteria that live in
& Bl oxygen-iree, very salty, or very hot environments are in the phylum

b. Archaebacteria. z g:;:‘;fn’:zﬂn

':'lemlznn that is least closely related to the others is
oneran. b. bacteria. c. prokaryote d. eukaryote.

A b.rm of sexunl reproduction that occurs in some bacteria is known as
: binary fission. c. capsids.
. endospores. d. conjugation.

Sum that can al}tack and destroy bacteria within the body are
a antibiotics.  b. disinfectants. . vaccines d. interferons.

Which is not true of a virus?
a. It is a noncellular particle. c. It has a protein coat.
b. It has a nucleic acid core. d. It contains DNA and RNA.

The hrst step that is out of order in the infection cycle of a lytic virus is that the
a. tail fibers attach to the surface of a bacteria.

b. virus injects its DNA into the bacterium.
¢. virus makes many copies of its DNA and protein coat.
d. virus produces messenger RNA of its genes.

The only immunity 10 viral diseases results from the use of
a. vaccines. b. antibiotics. c. interferon. d. oncogenes.

Although viruses are simpler than the smallest cells, they
a. are similar 10 the first living things.

b. are independent of other living cells.

c. may have evolved from genetic material of living cells.
d. evolved before other living things.

Bacteria cause disease by damaging cells and by releasing
a. symbionts. b. toxins c. antibiotics. d. interferons.

A beneficial symbiotic relationship occurs between humans and
a. bacteria whose enzymes break down cellulose

b. Nitrasomonas that produce ammonia.

<. Salmonella in our stomachs.

d. E. coli in our large intestin€.

Bacteria that use sunlight for € :
a. pholo(ropmc autotrophs. . photorophic heterotrophs.

b, chemotrophic autotrophs.

The process in which M9
can use is

a. sterilization- 4. sewage decomposition-
b. the nutrient flow.

nediseasfa“’edwavmb c. typhoid fever.
a d"pmheria 4. yellow fever.
b. mbe,cu!osis.
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he student chapter test are filled in. You may want 10 hole punch the cx
answers and place your ansi

wer key over the student answer sheet for easy grading. Or you may w
use the column of correct answers that appear beside each question
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